o] =X&
chol 3t

=4

= AArsHA? d. a<blF AT a, bol tsto] a &b o] AUgEe
ol 5 A W, = H (a, b) o £AEL BE 2 Y
(=5) = (+7) + (=8) — (-4) Q1717
® -14 @ -15 ® -16 ©s5A @ © s
@ —17 ® -18 @ 97 © 10 7H
S % U] U} b shpey 6. o3 FES dUglo] 22 #HE AR S
o, ot A2 Q= 0
@® 3+ (—4) -5+ (+8) 0, _2, 2 _g’ é, 3 _15
37 4’5
@ (-7)—(+4)+3+10
® (-5 8) — (+4) +3
(=5) + (+8) — (+4) + D 0 @ _9 @72
@ (-10)+ 10+ (-2)+3
(=10) + 10+ (=2) + @ % ® 3

©® (+3) = (1) -5+3

7.  (—1200) — (—1)200 4 (_1)199 _ (_1199) o] Zro 135}

23D Apole] 9k A% BN A 2 5Ea, | T
Vg A 45 bR B, a+b ) RS Foioleh
8. The F AN AT} TR 217 (W n & Adelth)
ohe % —(—1)'0 7} 2L AL
© (-1 @ —(-1)"
@ (-1 @ (-p™ ® -1 e i
® {~(-1}* @ (-7 ® (1"

@ _(_1)99




11.

12.

24 919l = - A, B7F U A, B Atele] A7t
wliﬁﬁq4ﬂ4ﬂﬂ 1:2 2 U= Hol 3d
o, = & A, B o th-gt= &5 272 Hotoi=t (H,
A<B)

49 AE Q, A4 Ae 7, A4 JHE
= N, 559 J&E M, F59] J2 pet & o,
Os 5 82 A7

® QNnZ=N @ Z-N=M

® MUP=qQ @®Q-(MuP)=9o
® ZNnP=N

3 O = mrzslL w1 =
TO<A<?EE'_——'T°]"ET: A FoA EZ7F 15
Ql &9 7|45 +otoi=t

T 84 a, bl tst] [a| =10, (| =13 ]2 a—b
Qﬁﬁﬁ%ﬂ4JWHﬂg4fﬁiN”W}§q,

M+ N ] g Fstele

13. 2 BEote

5t |a| =3, [b—al =5
(a,b) o] W55 Fstoiet

F A4 a, bl
A4

14. = A% a,b o dske] |a—
o, a o o] B

bl = 10 ©] 31, [b| = 4]a|

G 9l A5 E B golet

T

15. g A< 244 a

L1 1 1+ 1
¢c T b d 8

b ok 5 A2 A% ¢, d ol datol
2, £ 48 ol g Tt

a
a},




